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T @ 77777 Uz ‘ Ustab 1 Ureg Imin -~ max
* v o v |V mA
GR 27-5 DGL 5 80 01= 6
GR 80/DF DGL 5 110 80 01= 1
G2S 2 STCS — 135 80 2 =10
M 8190Y) Mul 6 125 84--88 3 0,5+ 3,5
QS 83/3 Marc 1 125 83 1,5 1 +~ 8
ST 85/10 , Tes 2 125 8387 1 =10
STV 70/6 i eur 3 100 7282 3,5 25— 6
STV 75/5 R i STV : 3 100 7282 , 35— 6
TE 2 - Osr |5 115 80 ! 05+ 3
TE 5 l Osr ‘ 3 100 85 : | 6 max
T 2742 . amer s 100 80 | 3 max
T 2742 ¢ amer 5 100 7380 “ 1 =5
1B 46 ! amer 3 225 82 3 i 1 =2
85 A1 | eur 4 125 8387 2 : 1 - 8
85 A2 ' eur 1 125 8387 4 ‘ 1 =10
85 A3 eur 6 130 84-=-88 ! 1,5+= 2
5651 | amer 1 115 8290 3 1,5+ 3,5
5783 . amer 6 115 82--90 3 ‘ 1,5+ 35
5651-WA?Y) amer 1 115 8288 2 } 1,5+ 3,5
) vide *4
Equivalents
AG 5209 AEG = 85 A 2 M 80981 Mul = 85 A 2 StR 85/10 RFT = 85 A2
CK 5651 Ray = 5651 M 81421 Mul = 85 A 2 STV 85/10 eur = 85 A2
CK 5651-WA1) Ray = 5651-WA OSwW 3801 RFT = STV 70/6 OE 3 amer = 85 A1
CK 5783 Ray = 5783 QS 1209 EEV = QS 83/3 oG 3 amer = 85 A 2
CK 5783-WA?) Ray = 5783 QS 1212 EEV = 85 A 2 1B 47 amer = 1 B 46
CK 5783-wB!) Ray = 5783 QS 1213 EEV = 85 A 2 5783-WA?) amer = 5783
GR 80[F DGL = GR 27-5 StR 706 RFT = STV 70/6 5783-wWBY) amer = 5783
1 5 =15+ 6
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